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iInt grade0, gradel, grade2, grade3, grade4;
Int grade[5]; grade0 grade(0]
gradel grade[1]
grade2 grade(2]
grade3 grade(3]
grade4 grade([4]
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type array_namelsize);

A1 0
int grade[5];
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grade[2] = 10;
Ao He
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double real[5] = {0, 1., 2., 3., 4.};
7|2t 25| M7t i@ A V20 A2 E8F A= 25 0=
x=7|3}
int  a[100] = {0},
HiEo| 27| & defot 89 =7(XtQ| 742t A 7|7} =L}

—

int a[] = {2, 3, 4, -7}; /*allel A7l 4+
=AIE | 4% OFX|Eo| #0 79
char s[] = “abc”; /* CtZ1t 5L */

char s[4] = {‘a’,b’,’c’,\#0’};
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int a = 1, b = 2, *pl 10004
p = &a;
b = *p + 10; 10008

[Quiz] 20| M &a, &b,
&p, *p, p ?
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int a, b, *p, *q, **r, **s;

a = 100; 10000 -
p = &a;

o= &b: 10004

*q = 300;

printf(“address of a : %p\t value of a : %d\n”, &a, a); 10008

printf(“address of b : %p\t value of b : %d\n”, &b, b);
printf(“pointer operator - : p—q=%d \n”, p—q);

10012
printf(“int operator - : p —q =%d \n”, (int)p — (int)q);
o &n: 10016
s = &Q;
. **r=1000; 10020

**s = *p + 400;
printf(“address of r : %p\t value of r : %d\n”, &r, r);
printf(“address of s : %p\t value of s : %d\n”, &s, s);
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/* Printing an address, or location. */
#include <stdio.h>
int main(void)

{
int i=7,*p=_&i;
printf("%s%d\n%s%p\n",
" Valueofi:", *p,
" Location of i: ", p);
return O;
}

= O:”

D DOHOFCH OHOERIRFEAIJOLY




ool oot ==

=)

ol

<

Tr

o

3

ol

0

3

3>

<+

1l o__”_

L

S

o__._._ 104

up B

S
<

L5

- O]

IA

=

= 2

Tl ol

=~ Ul K

= ! o]

[ | [ |

ﬁ 1|4
fof W
_mi:g_ e 0
WOoE N 0
== 10 |4
<X r m__u
by LH I
sr Ik a0
MW_H 10 o|i
il 23
ot
oo &
Hm_”__l_ NI A I _A_I
=~ HE -
R XS 2
BH<TH 9
meh T
o T ol K <F
o | 4o B
A fod | ™ E
- B ol o
oy 10{ Kk o] gl
R T
Sl
R olTl] kO ™

H

gl_‘_H UHOgK;!Fl— %lel_gb_l;

O IIOHO

=5



A
A == == oy = il =

swap & =0| o BRI == R EL HEfE =22 A
void swap(int *p, int *q) void swap(int *, int *);
{ int main(void)

int tmp; { inti=3,j=5;

tmp = *p; swap(&i, &j);

*D = *Q; printf("%d %dWn", i, J),

xq = tmp; /* 5 3is printed */
} return O;

}
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int  a[100], *p;

a[0] = 100;
a[10] = 400;

p=a;
printf(“address of p = %p, value of p = %p, value of *p = %d\n”, &p, p, *p);
printf(“address of a[0] = %p, value of a[0]= %d\n”, &a[0], a[0]);

printf(“value of *(p+10) = %d, value of a[10] = %d\n”, *(p+10), a[10]);
printf(“value of p[10] = %d, value of *(a+10) = %d\n”, p[10], *(a+10));
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#define N 100
int *p, a[N], sum;
Version 1
for (i=0, sum =0; i< N; ++i)
sum += ali] ; *EE= sum+=*(@+i); */
Version 2
for (p =a, sum =0; p < &a[N]; ++p)
sum += *p;
Version 3
for(p=a,i=0,sum =0; i< N; ++i)
sum += pli] ;

D DOHOFCH OHOERIRFEAIJOLY




et QX2 S| B E
£ Mole 5

double sum(double a[], intn)  /* nis the size a[] */
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